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1. 2x+3y = 7 Gaõ 3x + 2y = 3 ij icúKeY\ßde icû]û^eê  x – y  ùKùZ ?
From the solutions of simultaneous equations 2x+3y = 7 and
3x + 2y = 3, what is the value of x – y ?

(A) 4 (B) – 4 (C) 2 (D) – 2

2. x + y –1 = 0 Gaõ 2x + 2y = 2 ij icúKeY \ßde icû]û^ ùiUþ, ò̂ùcÜûq
c¤eê ùKCñUò ?
Which is the solution set of the simultaneous equations x+y–1 = 0 and
2x+2y = 2 from the following ?

(A) {(1,0)} (B) {(0,1)}  (C) gì̂ ýùiUþ (Empty set)(D) @iúcùiUþ (Infinite set)

3. x I y ~[ûKâùc ùMûUòG \êA @u aògòÁ iõLýûe GKK Gaõ \gK iÚû^úd @u ö
~\ò iõLýûUò @u\ßde icÁòe 3 MêY ùjûA[ûG, ùZùa ..............
The unit’s and ten’s place digit of a two digit number is x and y
respectively. If the number is three times the sum of the digits of the
number then ............ I

(A) x + 10y = 3x (B) 10x + y = 3(x+y)

(C) 10y + x = 3(x+y) (D) 3(10y + x) = x + y

4. ‘k’e ùKCñ cû^ _ûAñ 3x + ky – 9 = 0 Gaõ x + 2y –3 = 0 ij-icúKeY\ßd
iõMZ Gaõ ò̂bðegúk ùjùa?
For which value of ‘k’ the simultaneous equations 3x + ky – 9 = 0 and
x + 2y –3 = 0 are consistent and independent ?

(A) –2 (B) 2 (C) 6 (D) –6
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5. x2 + ax – 8 = 0 \ßòNûZ icúKeYe ùMûUòG aúR ‘4’ ùjùf,  ‘a’ e cû^ ùKùZ?
If ‘4’ is a root of the quadratic equation x2 + ax –8 = 0, then the value of
‘a’ ......... I

(A) 2 (B) 4 (C) –2 (D) –4

6. 5x2 –6x+1=0 \ßòNûZ icúKeYe aúR\ßde Êeì_ K�Y  ?
(A) aúR\ßd aûÉa Gaõ icû^ (B) aúR\ßd aûÉa I @icû^
(C) aúR\ßd @aûÉa (D) G[ôc¤eê ùKøYiòUò ê̂ùjñ ö
What is the nature of the roots of the quadratic equation 5x2 – 6x+1=0?

(A) roots are real and equal (B) roots are real and unequal

(C) roots are not real (D) None of the above.

7. 3x2 –x – 2 = 0 icúKeYe aúR\ßd a I b ùjùf  a–1+ b–1 e cû^ ......... I
If a and b are the roots of the quadratic equation 3x2 –x – 2 = 0 then the
value of a–1+ b–1 .......... I

(A) 1 (B) 
1

2
(C) –

1

2
(D) – 1

8. ‘k’ e ùKCñ cû^ _ûAñ kx2 – 4x – 4  = 0 e _âùb\K 64 ùja ?

For which value of ‘k’ the discriminant of kx2 – 4x – 4  = 0 is 64 ?

(A) 1 (B) –3 (C) 3 (D) 5

9. ~\ò 2k + 1, 13 I 5k–3 GK A.P. e KâcòK _\ jê@«ò, ùZùa k = ........... ö
If 2k + 1, 13 and 5k–3 are three consecutive terms of an A.P. then

k = ............I

(A) 17 (B) 13 (C) 4 (D) 9

10. ~\ò   3,  5,  7,  9,..............  A.P. e n iõLýK _\e ù~ûM`k 288 jêG ùZùa
n =  ..........ö
If  Sn of an A.P. 3, 5, 7, 9,........... is 288 then n = ................I

(A) 16 (B) 15 (C) 12 (D) 17

11. 8, 11, 14, 17....A.P. e ùKCñ _\Uò 272 ?

Which term of the A.P. 8, 11, 14, 17........ is 272 ?

(A) 72 (B) 73 (C) 70 (D) 89

[Space for rough work]
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12. ~\ò ùMûUòG A.P. e S
n
 = 2n2 + 3n jêG ùZùa A.P. e iû]ûeY @«e .............ö

If  Sn of an A.P. is 2n2 + 3n then the common difference of the A.P. is
.............I

(A) 13 (B) 4 (C) 9 (D) – 2

13. ‘A’ GK NUYû _ûAñ P(A) : P(A ) = 3:4 ùjùf P(A) ............I

If ‘A’ is an event and P(A) : P(A ) = 3:4 the P(A) = ....................I

(A) 
1

3
(B) 

3

7
(C) 

3

4
(D) 

4

7

14. k GK NUYû ùjùf, k e i¸ûaýZû P(k) .................ö
The probability of the event k is ...................I

(A) 0 ³ P(k) ³ 1 (B) 0 £ P(k) £ 1

(C) 0 > P(k) > 1 (D) 0 < P(k) < 1

15. ùMûUòG @_âaY cê\âûKê Zò̂ ò[e Uiþ Kùf i¸ûaý `kû`k iõLýû ....... ö
An unbiased coin is tossed thrice. Then the number of total outcomes is
.............I

(A) 2 (B) 4 (C) 6 (D) 8

16. \êAUò fêWÿêùMûUòKê ùMûUòK _ùe ùMûUòG MWÿûAùf \êA fêWÿê ùMûUòùe ùcøkòK
iõLýû @ûiòaûe i¸ûaýZû ............ö
Two balanced dice are rolled simultaneously. Then the probability that
the numbers coming on both the dice are prime is ..............I

(A) 
2

9
(B) 

1

4
(C) 

1

3
(D) 

1

6

17. \gùMûUò faþ]ûue cû¤cû^ 15.7 ö ~\ò 19 faþ]ûuKê \� Z[ýûakú ij iûcòf
Keû~ûG ùZùa ì̂Z^ cû¤cû^ .......... ö
The mean of 10 observations is 15.7. If a new observation 19 is included,
then new mean is ...........I

(A) 17.6 (B) 16 (C) 13.8 (D) 34.7

18. ùMûUòG Z[ýûakúe cû¤cû^ = MeòÂK  – 3 Gaõ c¤cû = 22 ùjùf,
cû¤cû^ = ............ ö
If mean = mode – 3 and median = 22 of given data then mean = ............I

(A) 19 (B) 21 (C) 24 (D) 23

[Space for rough work]
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19. ùMûUòG aûe´ûeZû aòZeY iûeYúùe PZê[ð i¸ûMe eûgòKéZ aûe´ûeZû 25 Gaõ
PZê[ð iõbûMe aûe´ûeZû 10 ùjùf, ZéZúd iõbûMe eûgòKéZ aûe´ûeZû .........ö
For a given frequency distribution, the cumulative frequency of the
fourth class is 25 and the frequency of the fourth class is 10. Then the
cumulative frequency of the third class is ..........I

(A) 32 (B) 22 (C) 20 (D) 15

20. ùMûUòG aûe´ûeZû aòZeY iûeYúeê còkò[ôaû Z[ý @^ê~ûdú Sfidi = – 50,

Sfi = 200 Gaõ @ûe¸ aò¦ê A = 62.5. ùjùf Z[ýûakúe cû¤cû^ ..........ö
For a given frequency distribution Sf

i
d

i
 = – 50,  Sf

i
 = 200 and assumed

mean A = 62.5. Then the mean of the frequency distribution is ........I

(A) 62.25 (B) 64.45 (C) 61.2 (D) 61.5

21. DABC e gúhðaò¦êZâde iÚû^ûu A (3,4), B(0,0) Gaõ C(6,0) ùjùf c¤cû
AD  e ù\÷Nðý ..............ö
If the vertices of DABC are A (3,4), B(0,0), and C(6,0); then the length

of median AD  is ..............I

(A) 6 (B) 5 (C) 4 (D) 3

22. A(3,–6) I B(–2, –1) ö AB  Kê 3 : 2 @ ê̂_ûZùe @«aòðbq Keê[ôaû P aò¦êe
iÚû^ûu .............. ö
The co-ordinates of point A and B are A(3,–6) and B(–2, –1). The co-

ordinates of P dividing AB  in the ratio 3:2 is ..............I

(A) P(4,–5) (B) P(2,–5) (C) P(1,–4) (D) P(0,–3)

23. DABC e gúhðaò¦êZâde iÚû^ûu A(3,0), B(0,3) I C(3,3) ùjùf DABC ùlZầ k
............ aMð GKK  ö
What is the Area of the triangle having vertices A(3,0), B(0,3) and
C(3,3).......... in square unit ?

(A) 9 (B) 4.5 (C) 6 (D) 3

24. ‘a’ e ùKCñ cû^ _ûAñ P(3,a) Gaõ Q(4,1) aò¦ê c¤ùe \ìeZû 10  GKK ùja ?
For what value of ‘a’, the distance between the points P(3,a) and Q(4,1)

is 10  unit ?

(A) 4 (B) –3 (C) 2 (D) 0

[Space for rough work]
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25. ABCD PZêbêðRe gúhðaò¦êMêWÿòKe iÚû^ûu A(0,0), B(2,0), C (2,2) Gaõ D(0,2)

ùjùf PZêbêðRUò GK .............ö
(A) aMðPòZâ (B) e´iþ
(C) @ûdZPòZâ (D) Uâû_òRòdcþ
If the vertices of ABCD quadrilateral are A(0,0), B(2,0), C (2,2) and
D(0,2) then ABCD quadrilateral is a .............I

(A) square (B) Rhombus

(C) Rectangle (D) Trapezium

26. DABC ùe ÐA e ic\ßòL�K BC  Kê D aò¦êùe ùQ\ Kùe ö DABD e ùlZầ k
I DACD e ùlZầ ke @ ê̂_ûZ ...............ö

In DABC the bisector of ÐA  intersects BC  at D. Then the ratio of area
of  DABD and area of DACD is ..............I

(A) AB + AC : AB (B) AB : AC

(C) AC : AB (D) AC + AB  : AC

27. DABC ùe mÐB = 900, BD AC⊥ . ~\ò AD = 8 ùi.cò. I CD = 10 ùi.cò.
jêG, ùZùa AB  e ù\÷Nðý ................ö

In   DABC  mÐB = 900, BD AC⊥ . If AD = 8 cm and CD = 10 cm then

the length of AB  = ........ I

(A) 14 cm. (B) 16 cm. (C) 12 cm. (D) 9 cm.

28. ùMûUòG aé�e GK Rýû, aé�e aýûiû¡ðe 2  MêY ùjùf aé�e iõ_éq lê\âPû_e
WòMâú _eòcû_ .......ö

If the length of chord of a circle is 2  times of its radius, then the
degree measure of the minor arc is ...............I

(A) 300 (B) 450 (C) 600 (D) 900

29. 10 ùi.cò. aýûiû¡ð aògòÁ ùMûUòG aé�ùe GK Rýû aé�e ùK¦âeê  6 ùi.cò. \ìeùe
[ôùf Rýûe ù\÷Nðý.......ö
A chord is at a distance of 6 cm from the centre of a circle of radius
10 cm. Then the length of the chord is .........I

(A) 4 cm. (B) 16 cm. (C) 8 cm. (D) 32 cm.

[Space for rough work]
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[Space for rough work]30. ùMûUòG aé�e A X B  e WòMâú _eòcû_ 1400 ö A I B Vûùe @uòZ ÆgðK \ßde
ùQ\aò¦ê P  ùjùf mÐAPB  = ................ö

The degree measure of A X B  is 1400 in a circle. If the tangents drawn
at A and B intersect at P then mÐAPB  = ................I

(A) 400 (B) 500 (C) 200 (D) 300

31. GK aé�ùe _eòfòLòZ PZêbêðRe \êA aò_eúZ aûjêe ù\÷Nðýe icÁò 12 ùi.cò.
ùjùf PZêbêðRe _eòiúcû .........ö
The sum of the lengths of the two opposite sides of circumscribing
quadrilateral of a circle is 12 cm. Then the perimeter of the quadrilateral
is ...........I

(A) 48 cm. (B) 24 cm. (C) 12 cm. (D) 36 cm.

32. _ûgßðiÚ PòZâùe AB  aýûi Gaõ O aé�e ùK¦â ö

~\ò mÐADC = 1180 jêG

ùZùa, mÐBDC = ............. ö

In the given figure ‘O’ is the centre of the circle and AB  is the diameter.
If mÐADC = 1180 then mÐBDC = ............. I

(A) 380 (B) 560 (C) 280 (D) 180

33. ‘r’ ùi.cò. aýûiû¡ð aògòÁ GK aé�ùe @«fòðLòZ icaûjê ZâòbêRe aûjêe ù\÷Nðý
ùKùZ ?
The length of the side of an equilateral triangle inscribed in a circle of
radius r is .............I

(A) r cm. (B) 2r  cm. (C) 2r cm. (D) 3r cm.

34. 3 ùi.cò. aýûiû¡ð aògòÁ aé� _âZò ajòüiÚ P aò¦êeê aé� _âZò @uòZ ÆgðK L� \ßd
PA  Gaõ PB ö mÐAPB = 600 ùjùf PA  e ù\÷Nðý ............ ö

PA  and PBare the two tangents segments drawn from an external
point ‘P’ to a circle of radius 3 cm. If mÐAPB = 600 then the length of

PA  is ....................I

(A) 3 cm. (B) 3 3 cm. (C) 12 3 cm. (D) 2 cm.

D C

A B
O
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[Space for rough work]35. _ûgßðiÚ PòZâùe aé� _âZò T aò¦êùe @uòZ

ÆgðK PQ
↔

ö  y = 2x Gaõ mÐRTP = 800

ùjùf, mÐMTR = ...........ö

In the given figure PQ
↔

 is a tangent to the circle at T. If y = 2x and
mÐRTP  = 800 then mÐMTR = ...........I

(A) 600 (B) 800 (C) 200 (D) 400

36. \êAUò _eÆeùQ\ú aé� _âZò iaûð]ôK @uòZ ÆgðK iõLýû ùKùZ ?
The number of tangents can be drawn to two intersecting circles at
most is ............I

(A) 1       (B) 2          (C) 3           (D) G[ôeê ùKøYiòUò ê̂ùjñ (None of these)

37. DABC ~ DDEF Gaõ EF = 
1

3
BC ùjùf,

DABC e ùlZầ k : DDEF e ùlZầ k = .............ö

If   DABC ~ DDEF and EF = 
1

3
BC, then

Area of DABC : Area of DDEF = ............. I

(A) 1:9 (B) 1:3 (C) 9:1 (D) 3:1

38. _ûgßðiÚ PòZâùe mÐPQR = mÐPRS ö
~\ò  PR = 8 ùi.cò. Gaõ  PS = 4 ùi.cò.
ùZùa PQ = ...........ö
In the given figure mÐPQR = mÐPRS.

If PR = 8 cm and PS = 4 cm

then PQ = ........... I

(A) 12 cm. (B) 16 cm.

(C) 32 cm. (D) 24 cm.

T

R

M

P

O

Q

y

x

800

R

P

Q

S

https://www.freshersnow.com/board-model-question-papers/
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[Space for rough work]
39. ùMûUòG ùKû þ̂e bìcòe aýûiû¡ð Gaõ aKâ CyZû ~[ûKâùc r

2
ùi.cò. Gaõ l ùi.cò.

ùjùf, Gjûe icMâ _éÂZke ùlZầ k ùKùZ aMð ùi.cò.?

If the radius of the base and slant height of a cone is 
r

2
cm and l cm

respectively, then the total surface area of the cone in square cm. is
.............I

(A) 2prl (B) pr(l+r) (C) pr
l
2 4

+F
HG

I
KJ

r
(D) 2pr(l + r)

40. \êAUò ùMûfKe @ûdZ^e @ ê̂_ûZ 64:27 ùjùf, ùicû^ue aýûie @ ê̂_ûZ
........ ö
If the ratio of the volumes of two spheres is 64:27 then the ratio of their
diameters is ..........I

(A) 16:9 (B) 8 :3 (C) 10 : 7 (D) 4 : 3

41. ~\ò ùMûUòG aé�ùe GK Pû_e WòMâú _eòcû_ 900 jêG, ùZùa Pû_ Gaõ  aé�e
_eò]ôe @ ê̂_ûZ .......ö
If the degree measure of an arc of a circle is 900, then the ratio of the arc
to its circumference is ...........I

(A) 3 : 4 (B) 1:3 (C) 1:4 (D) 2 : 3

42. ùMûUòG ZâòbêRûKéZò bìcò aògòÁ _âòRòcþe bìcòe ùlZầ k 30 aMð ùi.cò. Gaõ @ûdZ^
150 N^ ùi.cò ùjùf _âòRcþe CyZû............. ö
The triangular base area of a prism is 30cm2. If the volume of the prism
is 150 cm3, then its height is ............. I

 (A) 10 cm (B) 15 cm (C) 5 cm. (D) 20 cm

43. ùMûUòG aé�Kkûe ùlZầ k, iõ_ì�ð aé�e ùlZầ ke 5

18
@õg ùjùf aé�Kkûe

Pû_e WòMâú _eòcû_  ............. I

If the area of a sector of a circle is 
5

18
parts of the area of the circle then,

the degree measure of the arc of the sector is .............I

(A) 1200 (B) 900 (C) 600 (D) 1000
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44. ùMûUòG ùMûfKe _éÂZke ùlZầ k 154 a.ùi.cò. ùjùf Gjûe aýûiû¡ð ùi.cò.ùe
...........ö (p~ 22

7
)

If the surface area of a sphere is 154 cm2 then, the radius of the sphere

................ cm I (p~ 22

7
)

(A) 15 (B) 7.5 (C) 7 (D) 3.5

45. ùMûUòG iòfò�eûKéZò É¸e _éÂZke ùlZầ k 264 a.cò. Gaõ @ûdZ^ 924 N.cò.
ùjùf, É¸e bìcòe aýûi .............ö
The curved surface area of a cylindrical pillar is 264 m2. If the volume
of the pillar is 924 m3 then, diameter of the base is ................I

(A) 14 m. (B) 7 m. (C) 21 m. (D) 10.5 m.

46. (1+tan150) (1+tan300) e cû^ .............ö
The value of (1+tan150) (1+tan300) is ............I

(A) 1 (B) 0 (C) –1 (D) 2

47. cos(480+q) . cos(120 – q) – sin 480+q) . sin (120 –q) e cû^ .............ö
The value of cos(480+q) . cos(120 – q) – sin 480+q) . sin (120 –q)
is ...............I

(A) 
1

2
(B) – 

1

2
(C) 

3

2
(D) –

3

2

48.
sin162 cos153

cos72 cos27

0 0

0 0

+
−

 e cû^ .............ö

The value of 
sin162 cos153

cos72 cos27

0 0

0 0

+
−

 is ...................I

(A) 0   (B) 1 (C) –1            (D) G[ôeê ùKøYiòUò ê̂ùjñ  (None of these)

49. cosec2 (970 + a) – cot2 (830 – a) e cû^ .............ö
The value of cosec2 (970 + a) – cot2 (830 – a) is ..............I
(A) 0 (B) –1 (C) 2 (D)1

50. ùMûUòG @�ûkòKûe _û\ù\geê x cò. \ìeùe GK aò¦êeê @�ûkòKûe gúhðe ùKøYòK
C Ü̂Zòe _eòcûY 300  ùjùf @�ûkòKûe CyZû ............ö
The angle of the elevation of the top of the tower from a point x m.
away from the tower is 300. Then the height of the tower is ............I

(A) x m. (B) 3 x m. (C) 
1

3
x m. (D) 

1

2
x m.

=====
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